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PARALLEL LINES

In the adjoining figure, a transversal ‘t’ cuts two parallel line ‘I’
and ‘m’ at the points L and M respectively. If 21 = 55°, find all o
other angles. . ) e
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In the adjoining figure, AB || CD and a
transversal PQ cuts them at L and M
respectively. If ZQMD = 100°, find all__, M e
other angles in the figure. c OI[_/,OOQ
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In figure, AB and CD are two parallel lines intersected by a A L 8
transversal PQ at L and M respectively. If ZCMQ = 45°, find D
ZALM and ZDMQ. 45°%/M
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In each of the given figures, it is being given that | || m, find the values of x and y :
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In figure, I || m. Find the values of X, y, z, u. Give reasons.

P q
In figure, | || m and p || g. Find the values of a, b, ) L 307\
c, d.
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In figure, AB || CD and AC || BD. : ’
Find the values of x, y, z. N
65° X 35
A B8 A B
(i) (i)
py ol
In figure, side BC of triangle ABC has been produced to D A rE
and CE || BA. If ZABC = 65°, /BAC = 55°, find /ACE, /> /
ZECD and ZACD. /
65° /
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In figure, DE || BC. Find the values of x and y.

In figure, the corresponding arms of ZABC and ZDEF are
parallel, as shown in the figure. If ZABC = 75° find
Z/DEF.

In figure, PQ || RS. Find the value of x. (Hint: .PBA=75% p 2
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In figure, AB || CD and AE || CF ; ZFCG = 90° and \_\1200 X0
/BAC = 120°. Find the values of x, y and z. /(/ AL
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In figure, AB || CD. Find the values of x, y, z.
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14, In figure, two lines | and m are cut by a transversal t. Find whether | || m. Give reasons.
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15. In figure, AB || CD and CD || EF. Is AB || EF? Give reasons. ‘:{1
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